Chapter 9
A sRReXIEEN—MSE, TR XA ERN M SE
9-1

fi#:

KNVIE, 5

A cosp = 0.06
. (SI)
—3mAsinp = —0.24
g
A=652x10"% m
¢ = arctan(—0.637) = —32.5°
9-2
i
giRaIFRIEN 9z = Acos(wt + ), 15:
vy = Aw
_r
L
Rp:
w=15 rad-s*
.
772
HHRANFRIATL
z = 0.02 cos(1.5¢ + —) (SI)

2



fift:
e (1)
HEERA, YINREIFRIAN A = Acoswt, He
A=48x%x10% m
B 2T B 2 1.1
w = T = 37'(' ra S
WAt =0.5s, 8
r==—=24x102% m
* (2)
5:
coswt = —
B\t =0.5s
9-4
fi#:
igxr = Acos(wt + ¢) HERAI:
2
w="T—7 rad-s*
T
A=10 m
2
= —-7
=73
w5
2
x = 10 cos(mt — §7r) (SI)



iR

« (1)
RIFAAO, B0 < 1, REEENE, LEDMEABEER. §:

1 .
FE = §mr202 — mgr cosf

KABRARI < 1, 15

mr206 + mgr sin 6 - 6=0

=60+29=0
r
NEEIETE,
e (2)
FH(1)al15:
g
w=q]2
.
]

pl*h = plg — pul®hg
Bh = ot ¥, #HiTtTh =a+ 2z, 5

i+ 2z=0
a



HEEEE.
* (2)
H((1)E:
T = 2 —om /2
w g
R EFREEE, &
A=1|b—a

Qq T

FRr < R, 18:

, Qq
=0
T 4regmR3 v
NEEEE, RehEHER:
T_ 2_7T _ o dregmR3
w Qq



1
E, = §kx2 =0.21J

E,=E-U=0.61]

2F

Vpy, = — =25m-s!

R
Hd

« (1)
BE, = E,BE, + E, = ;kA?, #A:

1 11
“kxt =2 . ZkA?
2" T 393

/-T?F:
r=3v2x102?m
* (2)
sin Ap = Q
2
A
t=2% _ 0755
w
9-14

A=/ A2+ A3+ 24, 4y cos(ip1 — ¢2) = 5m
Ay sin 1 + Ay cos @9

— arctan
’ Aj cos g1 + Az cos g2

= 0.40 rad



A= \/A% + A2 + Ay Az cos(p — g)

A
Lo = I8, SIRIBRA; Zp = T8, SiRIESN.



